Y Otter Pro X-Over Lodge
E‘ Installation and Set-Up Instructions

Otter Pro X-Over Lodge
Fits Magnum Otter II & Pro Sled Only
Parts Identification and Check List

Complete Pkg Pro X-Over Lodge 201152

MODEL NUMBERS:
PARTS LIST
item# Qty Part#
1 1 201067
2 1 201140
3 1 201232
4 1 201233
5 1 201207
6 1 200493
7 1 201408
8 1 200362
o 2 201215
10 2 201216
1 1 201217
12 1 201218
13 1 201406
14 1 201407
15 3 201221
158 1 201379
16, 2 201154
&Y 2 200369
18 2 200806
19 1 200379
20 2 200196
21 2 200376
4 400641
23 6 200195
24 8 200615
25 4 401017
26 14 400648
2D 2 400367
2 2 200787
29> 30 200942
30 1 201159
31 1 201370

2

-

¢ ©

Description

Sled - Dark Gray -~

Tent - Pro X-Over Lodge

Frame Bracket “A’~

Frame Bracket “B" =

Back Adjustable Pole .»

Top Back Support Pole —

Top Front Support Pole - Adjustable.~
Front Adjustable Support Pole # e

Left Side Back and Center Elbow and Extension#
Right Side Back and Center Elbow and Extension~

Left Side Front Elbow and Extension.~

Right Side Front Elbow and Extension

Left Side Bottom Elbow and Extension+
Right Side Bottom Elbow and Extension””
Middle Main Frame <«

Middle Main Frame with Pivot#”

Seats

Seat Bracket= - —
Seat Base~#~

Seat Rail - 67"

Seat Rail Cap»#* L ———

Seat Rail Bracket~

#8 x 3/4" Self Tapping Screw
Black End Cap#

5/16 Washer == ¥

1/4 x 3/4 Hex Bolt

1/4 Nylon Hex Lock Nut = /¢
5/16 x 2 Hex Bolt

5/16 Nylon Hex Lock Nut

7/16" Self Tapping Screw

Plastic Trim Lock Kit < /
Quick Switch Bracket Kit - Pro »~

Page 1 Instructions - 70761



